Assembly Instruction

Note:
1. Should be assembled on flat ground to keep balance.
2. Before completing the installation, do not tighten the screws.

It heeds at least
two people to install.

/N

Before starting the
assembly, you must
read the whole
manual and follow
the instructions .

Page 1/17




Assembly Instruction of bed

Drawer not included

® Vg |
® N
v = _

6 6 OG0 O©B66000 O

Page 2/17




Assembly Instruction of bed

Hardware parts

B | [] g g © 7 Y

M6*15 M8*15 M8*20 M8*35 M8*40 M8*®22 M8 M4*12

(A JdeS @Qcrcs @ropcs @2pcs @Q22rcs @22rcs  @12pcs @3rcs @ pc
0 — |
y : £ AN

M8*55

4 M
@ '~ Q 1~ ®2rcs @orcs (N Xl @ 2rcs @ 4rCs

Part list
\l

. : :
(5 Xl (6 Xl @ '~ ©rc

@1\ @ 1rc @ 1rc

Page 3/17




Assembly Instruction of bed

Part list
® rC (1 7316 @ 2rcs @ 2rcs @ 2rcs @ 2rcs
& irC @ 2rcs @ rc @ 1rC @ 17C @ irC
= =] /
0 e < —
I < = % Y a5

@& 4rcs € 26rcs € 2rcs € 1rc € 1rC € +rcs €D 2rcs
€ 1°C

Page 4/17




Assembly Instruction of bed

Step:1 (o Step:2 (mmm
* O xsprcs O x4prcs

M8*40 M8*15

© @ x sprcs

M8*@22

Page 5/17




Assembly Instruction of bed

(o Step:4
© x4pcs

M8*15

- © x2prcs

@ x4pcs

Page 6/17




(mmm

M8*15

© x2prcs

(mm

M8*40

O x2pcs
r, O X 2PCS

Assembly Instruction of bed




Assembly Instruction of bed

Step:7 (o e Step:8
X 6PCS

M8*15

@ x 2pcs

Page 8/17




MMMMM

MMMMM

213

Please distinguish between
these two types of screws

O
~
=
~




Assembly Instruction of bed
Stepi2 (s © xsrcs

Step:11 (o
M8*15 e X8PCS M8*15

Tear off the anti stick
and stick the mute

sticker P on

Page 10/17




Assembly Instruction of bed
Step:13 Step:14 { s GX4PCS




{mmm Step:16
o O xspcs

Assembly Instruction of bed




© xepcs

)
M8*15

Page 13/17

Assembly Instruction of bed

Step:17




Assembly Instruction of bed

Step:19 @m © x 2rcs Step:20 @m O xspcs
This step requires 2 people This step requires 2 people
Please first locate .the middle hole and @ X 2PCS Please be patient in finding the hole that @ X 8PCS
lock the 17th tension rod, and then use corresponds to the iron pipe and cylinder
screws and nuts to lock both sides when (mmm frame, and lock it with screws and nuts
the tension rod is placed parallel M8*35 Q X 1PCS

You need a person to lift the iron frame
for easy locking of the screws on the side

You need a person to lift the iron frame
for easy locking of the screws on the side

Page 14/17




Assembly Instruction of bed

0.3 Step:22

If the iren frame i
slightly eut of pesiti®
after being lowered,

please leosen the scre

previous twe steps and
adjust the pesition of the
iren frame befere locking

it again Page 15/17




Assembly Instruction of light bar

/\ WARNING

KEEP OUT OF REACH OF CHILDREN
Swallowing can lead to chemical burns,
perforation of soft tissue, and death.
LED related accessories Severe burns can occur within 2 hours

of ingestion. Seek medical attention
immediately.

Warning: Contains button or coin cell
battery Hazardous if swallowed - see
== instructions

Power cord X1 ’

Starting from here,
stick the light strip.

Pull out
light strip and unfold  light strip

The unfolded light strip has a
light strip surface on one side and v At the bottom
a magic veneer on the other side. Stick the light strip on

Page 16/17




Assembly Instruction of light bar

/Insert é

There is a USB female port on the v
socket. Please plug the USB plug
with power cord into this USB
female port

The plug of the USB socket must
be connected to the power supply
before it can be used !!!

""""""""""""""""""""""""""""""

You can use the !
remote control to !
control the color

1PC

____________________________________________

After connecting all the lines,
sort them out and clip them
into the harness Magic Band

Page 17/17




